THHRICBITA2ZHREHEEDAEHER (SEE)
LERk26E8 AAIES

HlE B B 7 B A Kix #UE (u Sv/h)
8 FHIOME B 0.05
F 1430 0.06
o FHIOM B 0.08
F 1430 0.10
35 F RO £ — BT 0.05
F 1430 0.07
45 F RO A 0.06
F 1430 0.10
55 FHIOE B 0.05
F 1430 0.07
68 TRTORF Eh 0.09
F 12 30F 0.06
8 TRTORF Eh 0.07
F 12 30F 0.05
EBTOR 0.12
8H oK BhDbm
F 1230 0.07
o T RO = 0.07
T %30 - 0.06
10m T RO = 0.09
F 1230 \ 0.08
118 THIOK B 007
F 1230 0.06
128 FRIOHF = 0.06
F 438 - 0.06
BTOR 0.05
13H FHIoks 3By
F 1230 0.05
BTOR 0.10
14H FHIoks 3By
F 1230 0.07
FHIOF 0.08
158 - wh
F 1230 0.06




THHRICBITA2ZHREHEEDAEHER (SEE)
LERk26E8 AAIES

AER 81 7E B ] KAz #UE (u Sv/h)
168 FHTORF = 0.09
F 12 30F - 0.11
BTOH 0.07
178 FHIOK <HY—BFR
F 12 30F 0.06
BTOH 0.08
188 TRIOR Y
T2 30F 0.06
108 FRIORF Eh 0.06
T2 30F 0.09
20H FHIOK iEh 019
F1% 305 0.08
21H FHIOK iEh 00
F1% 305 0.08
22H FHIOK iEh 007
F1% 305 0.09
HITOM 0.05
23H FHIO <Y
F% 305 0.06
BT 0.06
248 RIS B DL
F1% 305 0.09
FRTORF 0.07
258 i AOBELY
F1% 305 0.06
268 THIORE = 0.09
i3 ) 0.09
FRIORF 0.08
278 RNBELEY
%305 0.06
IO 0.08
28H RNBELEY
%305 0.10
BT 0.06
29H FHIoks Bh
%305 0.16
BT 0.09
30H FRIO B
%305 0.10
BTOH 0.15
31H FHIOK <Y
F1% 305 0.11




